
Longitud de Arcos (J)
Nombre: Fecha:

Calcule la longitud de cada arco.

B

A

C 82°

?

Diámetro = 8mm

AC⌢ =

E

D

F

62°

?

Diámetro = 526mi

DF⌢ =

H

G

J
41° ?

Diámetro = 14mi

GJ⌢ =

S

R

T

141°

?

Diámetro = 12mm

RT⌢ =
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Longitud de Arcos (J) Respuestas
Nombre: Fecha:

Calcule la longitud de cada arco.

B

A

C 82°

?

Diámetro = 8mm

AC⌢ = 82
360 × π × 8 = 5.72mm

E

D

F

62°

?

Diámetro = 526mi

DF⌢ = 62
360 × π × 526 = 284.59mi

H

G

J
41° ?

Diámetro = 14mi

GJ⌢ = 41
360 × π × 14 = 5.01mi

S

R

T

141°

?

Diámetro = 12mm

RT⌢ = 141
360 × π × 12 = 14.77mm
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